

$$\cos^2 x = r \sin x - 1 \rightarrow \cos^2 x = 1 - r \sin^2 x$$

$$\rightarrow 1 - r \sin^2 x = r \sin x - 1 \rightarrow -r \sin^2 x - r \sin x + 2 = 0 \rightarrow r \sin^2 x + r \sin x - 2 = 0$$

$$\rightarrow (r \sin x - 1)(\sin x + 2) = 0 \rightarrow \sin x = \frac{1}{r} \rightarrow x = 2k\pi + \frac{\pi}{4}$$

دقت کن!

$$\cos^2 x + \cos x - 2 = 0 \rightarrow \cos^2 x = 2 \cos x - 1 \rightarrow 2 \cos^2 x + \cos x - 2 = 0$$

$$\rightarrow (2 \cos x + 1)(\cos x - 1) = 0$$

$$\frac{1}{2}x$$

$$\rightarrow 1 \rightarrow x = 2k\pi + \pi$$

$$(2 \cos x + 1)(\cos x - 1)$$

$$\rightarrow \cos x = 1 \rightarrow x = 2k\pi$$

$$\rightarrow \cos x = -\frac{1}{2}$$

$$\sin^2 x - \cos^2 x = \sin 2x \rightarrow (\sin^2 x - \cos^2 x)(\sin^2 x + \cos^2 x)$$

$$\sin^2 x - \cos^2 x = -\cos 2x$$

$$\sin 2x = r \sin x \cos x \rightarrow -\cos 2x = r \sin x \cos x \rightarrow \cos 2x = 0$$

$$2x = k\pi + \frac{\pi}{2} \rightarrow x = k\pi + \frac{\pi}{4}$$

$$-1 = \sin 2x \rightarrow x = k\pi + \frac{3\pi}{4}$$

$$\rightarrow x = k\pi + \frac{\pi}{4}$$

$$r \cos^2 x + r \sin x \cos x = 1 \rightarrow r \sin x \cos x = \sin 2x$$

$$1 + \cos 2x + \sin 2x = 1 \rightarrow \cos 2x + \sin 2x = 0 \rightarrow \sin 2x = -\cos 2x$$

$$\tan x = -1 \rightarrow 2x = -\frac{\pi}{2} + k\pi \rightarrow x = k\pi - \frac{\pi}{4}$$

$\sin x \neq 0$

$x \sin x$

$$\frac{\cos x}{\sin x} (r \cos x + 1) = \frac{1}{\sin x} \rightarrow \cos x = (r \cos x + 1) = 1 \rightarrow r \cos^2 x + \cos x - 1 = 0$$

اگر $\cos x = 1$ باشد $\sin x = 0$ است و عبارت اولیه تعریف نشده می شود!

$$(r \cos x - 1)(\cos x + 1) = 0 \rightarrow -1 \rightarrow x = 2k\pi + \pi$$

$$r \sin^2 x - \sin x \cos x + \cos^2 x = r \rightarrow r - \cot x + \cot^2 x = r(1 + \cot^2 x)$$

$$\rightarrow r - \cot x + \cot^2 x = r + r \cot^2 x \rightarrow \cot^2 x + \cot x = 0 \rightarrow \cot x (\cot x + 1) = 0$$

$$x = k\pi + \frac{\pi}{2} \rightarrow x = k\pi - \frac{\pi}{2}$$

$$\cos\left(\frac{\pi}{2} + x\right) \cos\left(x - \frac{\pi}{2}\right) = \frac{1}{r} \rightarrow \frac{1}{r} [\cos(A+B) + \cos(A-B)]$$

(٢)

$$\hookrightarrow A+B = \left(\frac{\pi}{2} + x\right) + \left(x - \frac{\pi}{2}\right) = 2x \rightarrow A-B = \frac{\pi}{2} + x - \left(x - \frac{\pi}{2}\right) = \frac{\pi}{r}$$

(الف)

$$\cos A \cos B = \frac{1}{r} (\cos 2x + \cos \frac{\pi}{r}) \rightarrow \cos \frac{\pi}{r} = 0$$

$$\frac{1}{r} \cos 2x = \frac{1}{r} \rightarrow \cos 2x = \frac{1}{r} \rightarrow 2x = 2K\pi + \frac{\pi}{r} \rightarrow x = K\pi + \frac{\pi}{4}$$

$$2x = 2K\pi + \frac{\pi}{r} \rightarrow x = K\pi + \frac{\pi}{4}$$

$$\cos\left(2x - \frac{\pi}{4}\right) = -\sin 2x \rightarrow -\sin 2x = \cos\left(2x + \frac{\pi}{4}\right) \rightarrow \cos\left(2x - \frac{\pi}{4}\right) = \cos\left(2x + \frac{\pi}{4}\right)$$

$$\rightarrow 2x - \frac{\pi}{4} = \left(2x + \frac{\pi}{4}\right) + 2K\pi \rightarrow 2K\pi = -\frac{\pi}{2} + 2K\pi \rightarrow 2x - \frac{\pi}{4} = -2x - \frac{\pi}{4} + 2K\pi$$

(ب)

$$\rightarrow 2x = -\frac{\pi}{2} + \frac{\pi}{4} + 2K\pi \rightarrow 2x = -\frac{\pi}{4} + 2K\pi \rightarrow x = -\frac{\pi}{8} + K\pi$$

$$\frac{\sin 2x + \sin 4x}{\sin 4x} = 1 \rightarrow \sin 2x + \sin 4x = \sin 4x \rightarrow \sin(2x) + \sin(4x) = 2\sin(2x)\cos(2x)$$

(ج)

$$r \sin(2x) \cos(2x) = \sin(2x) \rightarrow \sin(2x) = 0 \rightarrow 2x = k\pi \rightarrow x = \frac{k\pi}{2}$$

1, 20

$$\rightarrow r \cos(2x) = 1 \rightarrow \cos(2x) = \frac{1}{r} \rightarrow x = \pm \frac{\pi}{4} + 2K\pi$$

$$\tan \frac{x}{r} = \cot \frac{x}{r} + \cot \frac{x}{r} \rightarrow \tan \frac{x}{r} = \cot \frac{x}{r} \rightarrow \tan\left(\frac{x}{r}\right) = 1 \rightarrow x = \pi + 2K\pi$$

(د)

$$|\pi - (-\pi)| = 2\pi$$

٢

٥

(هـ)

$$\tan\left(\frac{\pi}{2} - x\right) = \frac{1 - \tan x}{1 + \tan x} \rightarrow \frac{\pi}{2} - x = 2K\pi + K\pi \rightarrow 2x = \frac{\pi}{2} + K\pi \rightarrow x = \frac{\pi}{4} + \frac{K\pi}{2}$$

(و)

٢

$$\sqrt{1+\sin^2 x} = \sqrt{2} \cos x \rightarrow 1+\sin^2 x = 2 \cos^2 x = 1+\cos 2x$$

$$\sin^2 x = \cos^2 x = \sin\left(\frac{\pi}{2} - 2x\right) \rightarrow 2x = \frac{\pi}{2} - 2x + 2k\pi \rightarrow 4x = \frac{\pi}{2} + 2k\pi$$

(۱.۵) ④

$$k=0 \rightarrow x = \frac{\pi}{4} \quad k=2 \rightarrow x = \frac{5\pi}{4} \quad ? \text{ در بازه } [0, \pi] \rightarrow x = \frac{k\pi}{2} + \frac{\pi}{4}$$

$$k=1 \rightarrow x = \frac{3\pi}{4} \quad \times \quad \text{بنابراین } x = \frac{3\pi}{4} \quad \text{منتهی به جواب را با این حالت نبرداریت}$$

$$\sin^2 x - \cos^2 x = 1 \rightarrow (\sin^2 x - \cos^2 x)(\sin^2 x + \cos^2 x) = 1$$

$$-\cos^2 x = 1 \rightarrow \cos^2 x = -1 \rightarrow x = 2k\pi + \pi \rightarrow x = k\pi + \frac{\pi}{2} \sim x = \frac{\pi}{2}, \frac{3\pi}{2} \quad (\text{الف})$$

$$(\sin x - \cos x)(\sin^2 x + \sin x \cos x + \cos^2 x) =$$

$$\sin x = 0 \quad \cos x = 1 \quad \checkmark$$

$$\cos x = 0 \quad \sin x = -1 \quad \checkmark$$

$$x = 0 \quad \checkmark$$

$$x = \frac{3\pi}{2} \quad \checkmark$$

$$x = \pi \quad \checkmark$$

(۲)

(ب)

$$\frac{\sin^2 x \cos^2 x + \sin^2 x}{\sin^2 x} = \sin^2 x + \cos^2 x$$

سوال ۵

$$\frac{\sin^2 x (\cos^2 x + 1)}{\sin^2 x} = 1 \xrightarrow{\sin^2 x \neq 0} \cos^2 x + 1 = 1 \rightarrow \cos^2 x = 0$$

$$x = k\pi + \frac{\pi}{2} \rightarrow x = k\pi + \frac{\pi}{2}$$

سوال ۷

$$\cos^2 x - \sin^2 x \cos^2 x = 1 \xrightarrow{\cos^2 x = 1 - \sin^2 x}$$

$$1 - \sin^2 x - \sin^2 x \cos^2 x = 1 \rightarrow \sin^2 x (1 + \cos^2 x) = 0 \rightarrow \sin x = 0$$

$$\sin x = 0 \rightarrow x = k\pi \rightarrow x = 0, \pi, 2\pi$$

$$\rightarrow \cos^2 x = 1$$

$$\cos^2 x = -1 \rightarrow x = 2k\pi + \pi \rightarrow x = \frac{2k\pi + \pi}{2} \rightarrow x = \frac{\pi}{2}, \frac{3\pi}{2}, \frac{5\pi}{2}$$

مقادیر جواب دارد

